Romeo and Juliet - Act 4 Name:

Answer all of the following question in complete sentences and properly document all quotes when necessary.

Scene 1
1) What is dramatic irony? Explain why Paris’ interpretation of Juliet’s weeping is an example of dramatic irony.

2) Throughout this scene, Friar Lawrence uses the image of coldness as a symbol for something. Find three examples of

cold imagery and write their line numbers. Then, explain what this cold imagery symbolized and describes here/
1.

3) In your own words, explain in detail the plan Friar Lawrence and Juliet device to reunite her with Romeo.

Scene 2
1) Why does Juliet’s character change so drastically from her behavior in scene 1?

2) Lord Capulet insists on moving up the wedding day. On what day will Juliet and Paris now marry? How does this begin
to unravel the Friar’s plan?



Scene 3
1) Look at Juliet's long soliloquy in lines 14-58. What proof is here of Juliet’s inner conflict? Use at least ONE quote
in your answer.

2) How is hot/cold imagery used in this soliloquy? Use at least ONE quote in your answer and be sure to explain in detail
how the imagery functions in this passage.

3) What concerns overwhelm Juliet in this scene? Why?

Scene 4
1) As areader, what do you know is IRONIC about this entire scene?

2) Lord Capulet uses contrasting images to explain his feelings. How does he show his pain and sorrow? Use at least ONE
quote to support your answer.

3) Why doesn’t Friar Lawrence tell everyone that Juliet is already married?



4) How will Romeo be told of the plan?

5) CREATE A TIMELINE below. Take the FIVE important events that occur in Act 4 and place them in TIME order.



